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01 attitude
03 claim

05 resident
07 nurture
09 fiercely
11 hold out
13 noble
15  honor
17 hook

19 recall
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area
path
hollow
conclude
surrender
starvation
execute
necessarily
sufficient

ultimately

2019.11. 18. 2% 9{16



A Ci= 22|20 87| 8iZi] iRk U M.

01 minerals =0 S5 8t

02 the difficulties OlHS= ==S5ICt

03 age and gender i S0 214 E10]

04 all kinds of sports 8= 52 =S0llAl FHO{LICE
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01 We need ( sufficient / efficient’) time to deal with the problem.
02 It will take a couple of hours to { direct / erect ) this huge tent.
03 | finally managed to ( persuade / perform ) her to move over to our company.

04 The reports ( contribute / conclude ) that the high school should be closed

immediately.
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01 resident . > have a particular quality or ability
02 hire . » someone who lives or stays in a particular place
03 possess . *in a way that cannot be different or be avoided
04 necessarily ° » employ someone to do a particular job
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01 A whale is not afish any more than a horse is.

=

02 Monica had no more talent for music than her sister had.

=
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01 Look at this picture of a man ( playing / played ) soccer.

02 The car { parking / parked ) in front of the bakery is mine. @
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An exaggerated sense of your capabilities

{than/ no more valtuable /in the long run /s / a limited sense of them )
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A mere collection of facts

(IS / no more science / than /& house / a stack of bricks /1S }
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(the tree’s trunkand leaves / the ants / the nectar / produced from / eat )
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01 | demand that he attends the meeting.

02 He suggested that | took awalk every day.
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01 Emma does not altogether agree with you.

02 What he says is not necessarily true.
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(SiX leaders / walk out /wearing ropes / he demanded /arcund their necks / that)

02 SlAk=E U7 o =S sioF Stetat A[Srsic

{should/suggested /| / the doctor / eXErcise everyday / that )
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(gone / the memory /isn't necessarily / of last\Wednesday's lunch)

(not always /riches / happiness / do /bring )
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